EES

= 7 P

P
B =

ot 7 Ph

[EE€]1-4-5-7-12-13.R7 %
>GO012:910-11. 73>, 36+
8 -14. 75y 7 [REDTEE],

[EE2]11-12:13.7t5t 5, 2+ 8.MARIO WORLD, 3 -
10. 7L - 7)—Y, 4 -16. 7TEUEY I L—, 515,k
BFTIOVY | BICATEIE? 6. FHBVE HAIESDE. 7 -
1. 8- 8- BEORET. 9:17.3—1 K> | 14, TEHZKER,

':{.

9 ED
ih ¥ &
70 375

%8 &g

k% R

[FE€) 1-4-6-7-9-13-15.&
<BRNSEHE, 2-8-10. BEDUw
Sfche 35 -11-12-14, HFT>,

[[EE2]1-8./\9/\ D/\V/\\D 2:10. Ky FI—>, 3.1
L—06 4:16. 7)L—V7T7—F2D<AD | 5:14. /> 9 K%,
6 17. 54448, 7-11-13. NFT>2Z. 9 - 15. OFDF
INL—Re 12. BIEATEDZ !




